-1/ lambla, Glcolus — Alonzo Church

1130 s
A\ e = v x| e e F= hole
vV = ,\ X.€ l E cC
| v E
E[C»\x‘e.") \;3 k-2 E[e[xev‘ﬂ
Vo .. ¥, bodls, nums, -, mulbi-aridy s
P D )
35 = (O (2 91 (+ x 9)) :i___/})
(£ 23) Hasleels D

Cwn}:ny (etry

~——

1

Dxdy, ¢ 0w T 3 = Qe 3




?..12_/ Whel. are balg  —~realliy
& Tree A B = A O})qu
i Rl A b o= B ~orl enbed
?fogrmw\‘j
Tue= AL AL+
Fadse .= 14 26, £
A = N db AR e +4 = dec
Y’\OJ’ Tz F *no/l- - =%
not := Ne, A J6 ¢ & &




+-3/

-

what 75 & pum ey -

&ero = stsﬂl‘ do a\wf’;“"t\,

one :< does - suce addl one

bwo ¢ = do b dwwe = AMAx. £ (one £4)
c A € (e )

Zerprz AL Ax X = hwo

onet= Y& MAx. £ x

bwot= A& Adx. £ (€ %)

add] :

{1

An, AC Jx, £ (A £ &)




-4/  add t= An. Am. AL dx,

n £ (m & %)

Zecs? 1= Apn, n (Ax. Flse)  Tree

mulb i An, Am. A6 Ax

n (m £) X

(m £) (me) x S8 0= ¢’




7-5/ pail

£s1 (pain A B) = A
snd  (pair A BY) = B

Pairi= Al deo As, s e

Snd = Xp. o Fse

Svb = z\n.

St (n Op par (b p) (dd] Gadp))

(Puib 2Rto ’écw).‘)




ma ke

&é/ 'Qo\c.'}vm‘«\l 2=

)\’C&(\ /\YL

G+ (zem? n))

(Ax, (addl  2ero) )

Ur. (ot ) (e (bt aM))

Zero

~foae = make-fachval oG

X -  F .




7-7)

Z = A8 (Gx, £ (v (x50 V))

Gx. £ GBue (2 )9

e Y~

2z F - ((/\x‘/r’ (A (; ;’:3 v))

T F (o (x x)v))

= F (Av. ((Axe B {Av (¢ ) vY)
CAxe B (Awe (¥ x) V)) V)

= F (Av. (2 B) v)
¥ & (2 F)

Coc 2= Z  make-fackorm)

i







